Geometry Chapter 6 and 5.1 Test Review R %<§\$

~ Proportions and Similarity-

SHOW ALL ,WORK

C} 4 A basketball player made 36 free throws in 16 games Fmd the ratlo of

o free throwsto games. oS,
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| 2. 4 5@ : T he ratio of seniors ‘co Jumors in the Math Clubis 2:3. If there are 21
juniors, how many’ Jumors mare in the club?
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#3-4. Solve the proportions.
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5. |8.2. IfABCD~EFGH , find x.
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#6-7. Find the valueofxand y.
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Determine whether each pair of triangleé is similar. Justify your answer.
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/) BICLOGY Out of 274 listed species of birds in the Umted States '78 speczes made the
endangered list. Fmd the ratio of endangered speczes of birds(tg/listed species in the
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2) ART An armui: in Portiand Oregon, makes brom'e sculptures of éogs The ra%m of the .
 height ofa scxﬂpture(;j.he actual hezght of the dog is 2: 3. If the hozght of the scﬂpturc
is 14 mches, find the height of the dog. v
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Solve each proportion.
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Find the measures of the sides of each triangle.

é) ‘The ratio of the measures of the s:,&es of a tmangle ig 3:5:7, and its, @enmeﬁ‘er is |
@ﬁenﬁmeters , , , SEE s
o HEE , 3[&0}“‘?

,43[% S e :},i&@; 4 c‘> {f) BB (;:,{_)} ik u -
VSx= 450 0 (se)rzio
~x=3 ﬁ? | | '

e w\ﬁ(i’& ﬁhfﬁ“‘ 3“5\’?;; ﬁl{g @ij -

lgf)am AN ZAQ z:::m,,; &

?f) ‘The ratio of the measures of the sxdes of a tnangie is 5 6 9; and its pemmeter is. 220 meters.
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- Determiine whether each pair of figures is similar. Justify your auswer.
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Each pair of polygonsris similar. Write a similarity state ment, :;md ﬁnd x, ti
measure(s) of the indicated side(s), and the scale factor.
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Determine whether each pan' of ﬁmangles is similar, gJustlfy your answer«w mj o
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